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You have been called for the written test based on the online data furnished by you in the web application, If
you have wrongly entered in the web or vou do not possess the required qualification as per our

advertisement, your candidature will be rejected.
g, wwﬁaﬁﬁﬁﬁﬁﬁmﬁﬁm%-ﬁwmwmmmaml

You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.
3. ORA-UF, 60 IAT  JoF eI F FT A |
The Question paper is in the form of Question Booklet with 60 questions.

4. SRl F 3o’ & F AT T IHTHANR SeeR-qieeenr & S|

A separate OMR answer sheet will be provided for answering the Questions.

5. TR aIC et F HRT 9eT-qfede Aol Hs @aaES), AEAR SeR giaw @ Bk
T R_Toger =g |

Question booklet series code (A/B/C/D/E) printed on the right hand top corner should be written in
the OMR answer sheet in the place provided.
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14.

15.

SR ECTRT 3 JTIRT ATH AT IeTshaAieh el o |
Enter your Name and Roll Number correctly in the question booklet.

INTANR IeaR-Gfecrnt 7 gaf ufafseai Hielt/Frel Tl F afer wige 3o & & 1 S=ir =rfRw)
All entries in the OMR answer sheet should be with blue/black ball point pen only.

T ] TAETRE 2927 & 3R W, fafld e a) Sccki & #re avgfass &9 & gref, s
¥ el U 3T FT F TE

The written test will be of objective type based on the qualification prescribed for the post with four answers
indicated, of which only one will be unambiguously correct.

319, m-g%mﬁ%vmaaﬁ&ﬁ%a:ﬁm Arell/HTell TATET & STt IISe U T NTHIR
SccR-GReceRT A G Hieer =1 3T T T 3k 37 T FE 8

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

Teh 52T o [T 37eieh 3celk ITelcl ATAT STTUeT | Il Secki o Tl S31dig 3 AT 3T e |
Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong

answers.

[Sf@ ST Toietarel BTel & e HTYEX, PleldeleX, SIS Blel JUT el SoFCl e ST,
et e I SffeY oY 3T AT 18T & Sreeh ) |

Computers, calculators, mobile phones and other electronic_gadgets, text books, notes etc.. will not be

_ allowed inside the written test hall.

gt got gl O, MNTHAAR Ica-9Ra Ft I & SeeT e § 613 3 7 sivrsr seax
gt ferdtars = SR ot gud afer smods o @

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

GReA-GecThT 36T 39 T TG HFel g |

The question booklet can be retained by the candidate.

qieT & JUH € % NI 3aTAT B e giet olser I ITATT AL &

Candidates are not permitted to leave the examination hall during the first hour of the examination.

38T T AT &) TUH TG/ hI-3e7 Flat o [oTT & Tl et GIeT Ters Sielr &1

The written test is conducted only to shortlist/screen-in the candidates for interview.
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dhaREd o (TS Yaas — (=10 AFfAF) Technician B (Chemical Operator —
(Maintenance Mechanic)

TRAT] AR T ARIST FAT 7 o1 (cal/g #) ¥ Multiplication of atomic weight and specific
heat (in cal/g) is

@) 5.4 (b) 6.4 () 46 @ 5.6

HsPO, Fr eTR&ar - ¢/ Basicity of H3PO, is
(@ 4 ® 1 ) 3 @ 7

IRAT (IRAT= NH,CONH,) ¥ ARG & GfoRIar sererer -— #/The percentage of nitrogen in
urea is about (urea = NH,CONH,)

@) 46 (b) 85 © 18 @ 28

a, bar ¢ uedl 9l vk BT @ AEeA L [s(s—a)(s-b)(s—c) fAr ¥, @@l S frad sww

8/Area of a triangle having sides a, b and ¢ is given by Js(s—a)(s —b)(s—c) where S is equal to

(a) atbtc (b) axbxc (c) 1/3(atb+c) (d '2(atbtc)

diger 497 §/Boyle’s law is

(a) V/T =constant ®) PV = constant
(©) PaT (d Van

3 i 9 3197 —— & A ST 8/Gas constant per molecule is known as

(a) SiecHAN fERiH/Boltzmann constant  (b) 3R’ Iy RRiw/Ideal gas constant
(c) vUaImgr "@EAT/Avogadro’s number (d) ToT 9R/Equivalent weight

40° ¢ TTUATA ----- % SNIe §/40° ¢ temperature is equal to
(@) SO0F (b) 40F () 104F ) 90F

Ni*"# R 3R goirgleT #/How many unpaired electrons are there in Ni2*?
@@ 0 (b) 2 () 4 (d 8
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9.

10.

11.

12.

15,

14.

15.

deal & 3Mad 97 & TR deat & IO 3Ah - ¥ g FAccording to the periodic law

of elements, the variation in properties of elements is related to their
(@) FIFAT gegAR/Nuclear masses (b)  TXAT HEATY atomic numbers
(c) I 3FaId/neutron-proton ratio (d) TTAY] gedA/atomic masses

fArfefad & @ #ia-ar v 34T soaci@® a8 & Which of the following is not iso electronic?
(a) Na' (b mg® () O* (@ ol

ar dcd, fSeTehT Selagl HOMTHAT 1.2 aor 3.0 & 3% 97 §C 3TEY gRM/Two elements whose

electro negativities are 1.2 and 3.0, the bond formed between them would be

(@) 31Z=iVIonic (b) HEEAScovalent
(c) wHF=gg/coordinate (d) erfeas/metallic

Sefafaa & & frgar afégamg‘r T 8/Which of the following has zero dipole moment?

(a) CIF (b) Pcls (c) SiF, (d) CFCl

ferfaf@a & & fradr v Yf@% W= e ¥/Which of the following has a linear structure?

(a) CCly () SO, ©) CH, @) CH,

Ay 8T I, FHARRROT & fAT ‘y’ & 757 §/ The value of °y’ for the given simultaneous equation
is
5X+3Y =14

2X+7Y =23
() 29/87 (b) 52/87 ) 87129 @ 52/92

it ot 3mg=ir vd ggadel e anf@er & The compound which contains both ionic and

covalent bond is

(a) CH. ) H (c) KCN @ Kcl

4 1253CMM



16.

17.

18.

19,

20.

21.

HAATRAT & 3 7= A ARG utd A AT /To get better yield of ammonia from the

reaction

N2 (g) + 3Hz (g) <= 2NH; (g); AH=-ve
fAraff@d & & U e 3afET 7€ §one of the following conditions is not required

(@) 3=g <&/High pressure

(b) 3fFSHRAT Hr 3TT Figa/High concentration of reactants
() NHs®T 39sig=T/removal of NH;

(d) 3= argA=/ high temperature

0.001 m NaoH =T P® g9m/The P of 2 0.001 m NaoH will be

(@ 3 (b) 2 © 11 d 12

Ba(H,P0,;) H WY $r 3Hidfiawor §&ar &/ The oxidation number of phosphorous in
Ba(H,PO») is

(a) +3 (b) +2 (©) +1 d -1

difere, S U AR TAT A woie, A % ¥ F FA BRAT ST @ §/The compound
that can work both as an oxidizing as well as reducing agent is

(a) KMnO, (b) H,0; (C) Fe; (804)3 (d) K; Cr0,

3TUMEY Tofe Uk U 9ei §, ST - @ Tehal §/Reducing agent is a substance which can

(@) 3acAl @ FThR/accept electrons (b)  WIEET @I FdFR/accept protons
(c) 3ol Yeki/donate electrons (d) e weE/donate protons

W1s faega sruaes fAge ——— & Hafa ¥/Faraday’s laws of electrolysis are related to

(a) T I AT FEAVAtomic no of cation

(b) HUTES & AT FEAT/atomic no of anion

(c) FAFIEST AT T $TR/equivalent weight of electrolyte
(d) w=Trer T aifd/speed of cations
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22,

23

24.

23

26.

27,

ald & gorael ROERT F $o @ - & §7 F 57 S ¥ electro refining of copper, some
gold is deposited as

(a) U= As/Anode mud
(b) &YUE A/cathode mud
(c) Hs/cathode

(d) seEEETE/electrolyte

fore e, seeelfafdw & wreq 8T 33T ST @eha/Which metal can’t be obtained from electrolysis?
(a) Ca (b) Mg () Cr (@ Al '

FARIE —— FT 3TF §/Malachite is an ore of

(@) ehgrIron (b)  disT/copper
(c) YRE/mercury P (d) f&F/zinc

AT & ¥ & @R #1 SEET A& ¥/One of the following is not the isotope of
hydrogen -

(@) wfeTA/Protium - (b)  sFéR=IH/deuterium
(c) RTHA/tritium - (d) 3l grsgeE/ortho hydrogen

Il fdavor ia-Ar §/Find the statement which is not correct

(a) FNRIGHA T HRTA EBZS Foee F Tl PN IR 9T gar /Magnesium and
calcium hydrogen carbonates cause temporary hardness to water

(b) FIARTH AT HRH FARSS Wb F ST F TARY W09 g & Magnesium and

calcium chlorides and sulphates cause permanent hardness to water

(c) oo 3fFRieAE g # §/Water is amphotenic in nature

(d) ST WEEAST Fhfd %7 §/Water is covalent in nature

fAFfaf@d & & ged UfFaemel & §/The strongest base among the following is

(a) NH; (b) PHs
(c) AsH; (d) SbH;

6 1253CMM



29.

30.

31.

------- H UF AT HeT-FleeT G F1 FNAOT GI7T &/A new carbon — carbon bond formation is
possible in

(@) FAaRT fAfFAVCannizaro reaction

(b) T 3fAfRaT/reimer- tiemann reaction

(c) FAFATEA HIUdT/clemmensen reduction

(d) 39ed H FF Ai/none of the above

SRR T Hiev™e  FRATSS - a7 #/Calcium carbide on hydrolysis gives

(@) UuRel=/Ethylene
(b) Tdelethane

(c) vfafeeia/acetylene
(d) #</methane

fAefafad & & v &1 s wias & &7 F AT Sar ¥ One of the following is used as
refrigerant

(a) AR FEREs/Methylene chloride

(b) FERIBIFA/Chloroform

(c) et TgT FARTSS/carbon tetra chloride

(d) sPrii=a/freons

FEffardfed TS & ﬂ’m & #ffRr = W PAfaf@a 3o gar ¥ Alcohols when react
with carboxylic acids forms the following

(@) ufesgrzza/Aldehydes

(b) s¥cHlesters

(c) wefgrsacd/carbohydrates
(d) HeE/ketones
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32.-

33.

34.

38,

36.

fAmfafea & & &l=-ar tw 7o g FE Y Which of the following is not a fundamental unit?

(@) wegAR/Mass (b) w@E/Length
(c) AT/ Temperature (d) 9geca/Density
U TARTOT HT Yefbcdleehdl HI HGST -—-- ¥ AT e §/Reproducibility of an experiment is

measured from

(@) AT Accuracy (b)  3raalAverage

(c) uRREdPrecision (d) #FEI/Mean

Tt IRad= gar e erdt o1 svees oy verdf F S8 fhar o wwan, 37 - Fer oA

¢/ The substances that cannot be decomposed into simpler substances by chemical changes are

called
(a) FRPER/Compounds (b) Tcalelements
() f&#91/ mixture (d)  w@EFs/complexes

STel o fohctel I 31 1T & 1.5 M 39T F &R §/1.5 moles of carbon are equal to how many

moles of water

@ 1 ® 15 © 2 @ 25

HTATHIT & qUeg &1 IReveleT Fal F Far Sar §/Yield of a reaction is calculated from

(a) 100 (b)  Actual yield x100
Actual yield x Theoretical yield Theoretical yield
(¢) Theoretical yield x100 (d)  Actual yields - 100
Actual yield Theoretical yield
8 1253CMM



37. UF WAV & HA FACH W& —— § Hag &/The principal quantum number of an atom is

38.

39.

40.

41.

42.

43.

related to

(@) 3RfSTd F 3THR/size of the orbital

(b) W=ISRUT SV HAW/spin angular momentum

(c) 3fifSce FoMT FI9 orbital angular momentum

(d) ¥ # siffdee & sfAfI=am/orientation of orbital in space

FVFIH R arar faegadehr fafdwor  EElectromagnetic radiation with maximum

wavelength is

(@) WEsEultraviolet (b) XEEawEradiowave
(c) vFH-fRoT/X-rays (d)  3raT=d/infrared

I 1/2b=1/3, b & He= 31 3/ If 1/2b = 1/3. What is the value of b?
(a) 2.5 (b)y 2 () 17 (d 15

UF ded T goiaeled Geaor 1s? 25%2p° 357 3p° 3d° 4s' ¥, A® 3EF - FT Gl war ¥
The electronic configuration of an element is 1s* 2s?2p° 35 3p® 3d’° 4s', this represents its

(a) 3faT FEufA/Excited state (b) @t feufd/ground state
(¢) e Rufd/cationic state (d) =oumgsr EufAanionic state

----------- ~(FAATS FT TATS §, ST 3SWel=1 &/The triad of nuclei, which are isotonic is
@ C4N5FT (b)) 2N () (CNSFT (@) % NM

3TTqH YA AT TG arelr Ted §/The element with highest first ionization potential is

(@) sRI</Boron (b) FIe=T/carbon (c) =sgeteinitrogen (d) 3ffFdsHoxygen

A T JOTERT aTem J9 HA-Ar &/ Which pair of elements has same chemical properties

@ 13,22 () 3,11 ) 4,24 d) 24
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44,

45.

46.

47.

48.

A +2B— C+D Hﬁﬂ*ﬁwﬁAwHﬁma@ﬂmem%mBﬂﬁmﬁﬁm
ST § ar fARAT &7 8P For the reaction A + 2B —» C+D ; if active mass of A is kept constant

and active mass of B is tripled, the rate of reaction will become

(a) faermithree times (b) T TAUsix times
(c) 3S I=A/eight times (d) = 9=Mnine times

T HAFHAEH W fFAR FConsider the equilibrium reactions,

K - 2K,
H;PO; == H'+ H,PO,", H,PO, = H' + HPO,Z, HPO, = H'+P0O,*
fAmfaf@d feussr & fov @e=r =& K /The equilibrium constant K for the following

_ dissociation
HiPO, = 3H'+ PO, is
(a) Ki/KsKs b KK Ks
() K/KyK; - (d) Ki+K+Ks

T X woeh F U A N, a2m 3 | Hy 7 fFemr aar 8, af s3f@sar ganrr 50% N, @&
3T & aRafda fFar Smar & /One mole of N; and 3 moles of the H are mixed in a litre flask if
50% N is converted into ammonia by the reaction

Na(g) +3 Ha(g) == 2NHs(g) ,

[T A Fel I Hedl I G&;1 &/ The total number of moles of gas at equilibrium is

(@ 1.5 (b) 3.0
(c) 45 (d 60

0.86mm + 0.02mm =

(a) 46 b) 42
() 43 . d 44

T FARMT AR & AU a9dAe dee W awg RRie/As the temperature increases, the

equilibrium constant for an endothermic reaction

(@) ¥gar g/Increases (b)  =ear g/decreases
(c) T&R §1ar §/remains constant (d) T & AT B/becomes zero
10 1253CMM



49,

50.

51,

32.

53.

54.

ST A% Hage S Fr faw@e e orar § d@/When a lead storage battery is discharged

(@) SO e 8IaT 8/SO; is evolved

(b) @8 HWethe FT 3UAT fRAT ST /lead sulphate is consumed

(¢) s 3c9e= grar &/lead is formed

(d) TeFIRS TiAs T 39T foFAT ST ¥ sulphuric acid is consumed

4/5 =1 f3feaa & ufafda s Convert 4/5 into decimal
(@ 0.5 (b) 0.4 (© 08 (d) 0.6

ST (W) & T Seem/Formula for rust
(a) Fes0,xH0 (b) Fe,05xH,0  (c) Fe;04 (d) FeOxH,0

AT F ST ¥ TU $ AU Al F X v QR F gher a8 BRT ST 2/ One of the

following methods is not used for preventing rusting of iron
(a) seFgIcefCaT/Electroplating

(b) Y ¥ fFA9=T/coating with paints

(c) deE=eRE/galvanization

(d) 3FelTa/acid treatment

ALO;2H0 "t & fav Fe=faf@d § & w0 goshiaor ufkar & g3 far srar & Which

one of the following beneficiation process is used for the mineral Al,032H,0?

(@) %=1 caaA/Froth floatation

(b) feTTe=I/leaching

(c) gavrliquation

(d) TSI YrEFEIT/magnetic separation

UIdHH F - F AT & U Pee F s fRar Sar $/Calcination is used in metallurgy
for removal of

(a) Siel Ud WewIgs/Water and sulphide

(b) St € COyfwater and CO;

(©) CO,Td HyS /CO; and H,S

(d) H;0 v H,S/H,0 and H,S
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55,

56.

7

58.

59,

60.

gIS3Iolel G & AT - f3eiaT &/The ionization of hydrogen atom gives

(a) w33ss A A/Hydride ion
(b) gESfagd 3™/ hydronium ion
(c) 9re/ proton

(d) grsgIfeae 3=/ hydroxyl ion

Fefafld & & U ganrT St &1 VRl H{ioe fAer #€ WHal Permanent hardness of water is
not removed by one of the following

(a) @erere faff/calgon’s method

(b) 33 fafs# T fafion exchange method

(c) wams faffclarke’s method

(d) B=ARks IS fafsynthetic resins method

Na,Co;f@A0T & Hierd uferar #F 39-3carg 8/In Solvay process of manufacture of NayCos, the bi
products are

(a) NH,CL CaO (b)  CaO, Nay,COs
(C) CaClz, CO;, NH3 (d) N32C03, C02

TN 3T 4R v wiFeT §/Formula of plaster of paris

(a) CaSO42H20 (b) CaSO4-0.5H20
(c) CaOCl, (d CaCoO;

U FREfS afFy § Rl Jas & ggeee & AT dsr gar gderor R Srar

t/Sodalime test is used to detect the following element in an organic compound

@ C ® H
© N @ S

...... # vfafe® grsgioT faegae &/Acidic hydrogen is present in

(a) TUTEA/Ethyne (b)  TdNT/ethene
(c) deaie/benzene (d) U/ ethane
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